ICE AGE JUNCTION PATH AND JEFFY PATH AND JEFFY TRAIL SANITARY SEWER ASSESSMENT DISTRIC

CONTRACT NO. 6886 BID OPENING: JUNE 14, 2013

		Speedway Sand & Gravel Parisi Construction Co., Inc. Inc.					rground and ing Inc.	Joe D Const		
Item	Quantity	Price	Extension	Price	Extension	Price	Extension	Price	Extension	Price
Section B: Proposal Page					=======			=======		========
10911.0 - MOBILIZATION - LUMP SUM	1.00	\$69,500.00	\$69,500.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$64,000.00	\$64,000.00	\$50,800.00
20101.0 - EXCAVATION CUT - C.Y.	2,507.00	\$6.50	\$16,295.50	\$4.80	\$12,033.60	\$8.00	\$20,056.00	\$13.96	\$34,997.72	\$12.00
20102 - FILL - BORROW - C.Y.	3,984.00	\$2.50	\$9,960.00	\$9.20	\$36,652.80	\$12.00	\$47,808.00	\$8.81	\$35,099.04	\$13.25
20140.0 - GEOTEXTILE FABRIC TYPE										
SAS NON-WOVEN (UNDISTRIBUTED) -										
S.Y.	400.00	\$2.00	\$800.00	\$2.20	\$880.00	\$3.00	\$1,200.00	\$1.88	\$752.00	\$1.60
20217.0 - CLEAR STONE - TON	125.00	\$12.00	\$1,500.00	\$14.75	\$1,843.75	\$16.00	\$2,000.00	\$15.02	\$1,877.50	\$15.25
20219.0 - BREAKER RUN - TON	1,500.00	\$9.00	\$13,500.00	\$11.25	\$16,875.00	\$11.00	\$16,500.00	\$8.74	\$13,110.00	\$16.00
20221.0 - TOPSOIL - S.Y.	15,030.00	\$0.50	\$7,515.00	\$1.00	\$15,030.00	\$1.50	\$22,545.00	\$2.14	\$32,164.20	\$2.50
20303.0 - SAWCUT BITUMINOUS										
PAVEMENT FULL DEPTH - L.F.	15.00	\$3.00	\$45.00	\$2.70	\$40.50	\$2.00	\$30.00	\$2.50	\$37.50	\$3.00
20322.0 - REMOVE CONCRETE CURB &										
GUTTER - L.F.	20.00	\$7.50	\$150.00	\$6.30	\$126.00	\$5.00	\$100.00	\$4.38	\$87.60	\$5.00
20326 - REMOVE FENCE - L.F.	2,129.00	\$1.00	\$2,129.00	\$0.85	\$1,809.65	\$1.50	\$3,193.50	\$4.00	\$8,516.00	\$1.00
20401.0 - CLEARING - I.D.	50.00	\$25.00	\$1,250.00	\$26.50	\$1,325.00	\$25.00	\$1,250.00	\$25.00	\$1,250.00	\$27.00
20403.0 - GRUBBING - I.D.	50.00	\$25.00	\$1,250.00	\$26.50	\$1,325.00	\$25.00	\$1,250.00	\$25.00	\$1,250.00	\$27.00
20701.0 - TERRACE SEEDING - S.Y.	9,680.00	\$0.80	\$7,744.00	\$0.70	\$6,776.00	\$0.85	\$8,228.00	\$0.68	\$6,582.40	\$0.75
20706 - TALL GRASS PRAIRIE SEEDING -										
S.Y.	5,350.00	\$0.61	\$3,263.50	\$1.50	\$8,025.00	\$0.70	\$3,745.00	\$1.40	\$7,490.00	\$1.50
21001 - EROSION CONTROL										
IMPLEMENTATION PLAN - LUMP SUM	1.00	\$750.00	\$750.00	\$610.00	\$610.00	\$2,500.00	\$2,500.00	\$1,456.25	\$1,456.25	\$1,000.00
21002 - EROSION CONTROL										
INSPECTION - EACH	10.00	\$350.00	\$3,500.00	\$370.00	\$3,700.00	\$400.00	\$4,000.00	\$368.75	\$3,687.50	\$350.00
21011.0 - CONSTRUCTION ENTRANCE -										
EACH	3.00	\$300.00	\$900.00	\$120.00	\$360.00	\$450.00	\$1,350.00	\$225.00	\$675.00	\$300.00
21014 - CLEAR STONE BERM (DITCH										
CHECK) (UNDISTRIBUTED) - EACH	1.00	\$250.00	\$250.00	\$120.00	\$120.00	\$300.00	\$300.00	\$218.75	\$218.75	\$325.00
21017 - SILT SOCK 8 INCH - COMPLETE -		^-	A 0=0 00						A-	
L.F.	2,049.00	\$5.70	\$11,679.30	\$4.10	\$8,400.90	\$6.00	\$12,294.00	\$3.90	\$7,991.10	\$4.25
04004 OUT FENOE COMPLETE LE	50.00	#0.00	#450.00	# 4.00	CO10 00	#0.00	#450.00	# 4.00	# 000 00	#4.05
21021 - SILT FENCE - COMPLETE - L.F.	50.00	\$3.00	\$150.00	\$4.20	\$210.00	\$3.00	\$150.00	\$4.00	\$200.00	\$4.25
21024 - SILT SOCK (12 INCH)	427.00	#7.00	CO 44C 40	ФГ 70	CO 400 00	67.50	#2 077 F0	ФГ 4O	#0.050.00	Ф Г 7 Г
COMPLETE - L.F. 21027 - EROSION BALES - COMPLETE	437.00	\$7.20	\$3,146.40	\$5.70	\$2,490.90	\$7.50	\$3,277.50	\$5.40	\$2,359.80	\$5.75
(DITCH CHECKS) - L.F.	45.00	\$12.50	\$562.50	\$4.20	\$189.00	\$15.00	\$675.00	\$4.00	\$180.00	\$4.20
21052.0 - POLYMER STABILIZATION -	45.00	φ12.30	φυυ ∠ .υυ	⊅4.∠∪	φ109.00	φ13.00	φυ/ 5.00	φ4.00	φ100.00	Φ4. ∠U
S.Y.	7,500.00	\$0.16	\$1,200.00	\$0.55	\$4,125.00	\$0.25	\$1,875.00	\$0.50	\$3,750.00	\$0.60
5.1.	1,500.00	φυ. το	ψ1,200.00	φυ.υυ	ψ4, 125.00	φυ.Ζυ	ψ1,075.00	φυ.50	ψ3,730.00	φυ.υυ

		Speedway Sand & Gravel Parisi Construction Co., Inc. Inc.					rground and ing Inc.	Capitol Un	Joe D Const	
Item	Quantity	Price	Extension	Price	Extension	Price	Extension	Price	Extension	Price
21055.0 - INLET PROTECTION, TYPE D HYBRID - COMPLETE - EACH	4.00	\$95.00	\$380.00	\$300.00	\$1,200.00	\$100.00	\$400.00	\$280.00	\$1,120.00	\$280.00
21061.0 - EROSION MATTING, CLASS I, URBAN TYPE A - S.Y. 21072 - EROSION MATTING CLASS II	13,850.00	\$1.36	\$18,836.00	\$1.70	\$23,545.00	\$1.50	\$20,775.00	\$1.60	\$22,160.00	\$1.70
TYPE B (ORGANIC) - S.Y. 30201.0 - TYPE "A" CONCRETE CURB &	1,180.00	\$1.68	\$1,982.40	\$1.90	\$2,242.00	\$1.80	\$2,124.00	\$1.75	\$2,065.00	\$1.85
GUTTER - L.F. 30301 - 5 INCH CONCRETE SIDEWALK -	20.00	\$30.00	\$600.00	\$47.50	\$950.00	\$40.00	\$800.00	\$35.50	\$710.00	\$40.00
FLAGSTONE & JEFFY PATH - S.F. 30302.0 - 7 INCH CONCRETE SIDEWALK & DRIVE - FLAGSTONE & JEFFY PATH -	50.00	\$7.00	\$350.00	\$4.60	\$230.00	\$5.50	\$275.00	\$6.25	\$312.50	\$7.00
S.F. 30340.0 - CURB RAMP DETECTABLE	208.00	\$5.00	\$1,040.00	\$4.90	\$1,019.20	\$6.00	\$1,248.00	\$6.75	\$1,404.00	\$8.50
WARNING FIELD - S.F.	16.00	\$40.00	\$640.00	\$34.75	\$556.00	\$30.00	\$480.00	\$30.00	\$480.00	\$30.00
40102.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION 2 OR 3 - TON 40201.0 - HMA PAVEMENT, TYPE E-0.3 -	2,590.00	\$15.00	\$38,850.00	\$17.75	\$45,972.50	\$12.00	\$31,080.00	\$11.08	\$28,697.20	\$16.50
TON 60800 - PAVEMENT MARKING EPOXY.	675.00	\$68.00	\$45,900.00	\$72.00	\$48,600.00	\$68.00	\$45,900.00	\$68.00	\$45,900.00	\$71.50
LINE, 4-INCH - L.F. 60801 - PAVEMENT MARKING EPOXY.	1,500.00	\$1.80	\$2,700.00	\$1.90	\$2,850.00	\$2.95	\$4,425.00	\$1.80	\$2,700.00	\$3.10
DOUBLE LINE, 4-INCH - L.F. 60816 - PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK,18-INCH -	35.00	\$3.55	\$124.25	\$3.80	\$133.00	\$2.95	\$103.25	\$3.55	\$124.25	\$3.10
L.F. 60886 - PAVEMENT MARKING	75.00	\$10.65	\$798.75	\$11.25	\$843.75	\$12.50	\$937.50	\$10.65	\$798.75	\$13.25
REMOVAL, 4" DOUBLE LINE - L.F. 90004 - CLEARING AND GRUBBING	5.00	\$16.15	\$80.75	\$17.25	\$86.25	\$3.00	\$15.00	\$16.15	\$80.75	\$3.15
WOODED AREA - L.S. 90005 - TREE PROTECTION - EACH 20101.0 - GEOTEXTILE FABRIC TYPE HR	1.00 5.00	\$22,250.00 \$125.00	\$22,250.00 \$625.00	\$27,000.00 \$320.00	\$27,000.00 \$1,600.00	\$22,250.00 \$250.00	\$22,250.00 \$1,250.00	\$23,850.00 \$356.25	\$23,850.00 \$1,781.25	\$26,000.00 \$75.00
- S.Y. 90001 - BIKE RAILING TYPE 1 - L.F. 90002 - PREFABRICATED PEDESTRIAN	28.00 100.00	\$5.00 \$196.00	\$140.00 \$19,600.00	\$2.20 \$274.00	\$61.60 \$27,400.00	\$3.00 \$210.00	\$84.00 \$21,000.00	\$5.55 \$212.75	\$155.40 \$21,275.00	\$5.00 \$270.00
BRIDGE - L.S.	1.00	\$55,000.00	\$55,000.00	\$84,000.00	\$84,000.00	\$60,000.00	\$60,000.00	\$61,500.00	\$61,500.00	\$85,000.00

		Speedway Sand & Gravel Parisi Construction Inc.				, S & L Underground and Capitol Underground Trucking Inc. Inc.				d, Joe D Const	
Item	Quantity	Price	Extension	Price	Extension	Price	Extension	Price	Extension	Price	
90003 - REINFORCED CONCRETE									======		
BRIDGE ABUTMENTS - L.S. 90010 - HEAVY RIPRAP (BANK	1.00	\$67,000.00	\$67,000.00	\$33,420.00	\$33,420.00	\$75,000.00	\$75,000.00	\$74,625.00	\$74,625.00	\$35,000.00	
PROTECTION) - C.Y. 90011 - C.I.P. PILING DELIVERED AND	20.00	\$75.00	\$1,500.00	\$59.00	\$1,180.00	\$50.00	\$1,000.00	\$50.00	\$1,000.00	\$60.00	
DRIVEN - L.F. 90015 - CONCRETE APROACH SLAB	240.00	\$54.00	\$12,960.00	\$48.00	\$11,520.00	\$55.00	\$13,200.00	\$51.88	\$12,451.20	\$50.00	
FOR PATH - S.Y. 60231 - FURNISH AND INSTALL 2 INCH	38.00	\$205.00	\$7,790.00	\$93.00	\$3,534.00	\$55.00	\$2,090.00	\$127.25	\$4,835.50	\$158.00	
PVC (SCHEDULE 40) CONDUIT BY OPEN TRENCH METHOD - L.F. 60255 - FURNISH AND INSTALL 3 #6 AND 1 #8 WIRES IN EXISTING OR	2,500.00	\$6.05	\$15,125.00	\$5.50	\$13,750.00	\$6.50	\$16,250.00	\$6.05	\$15,125.00	\$5.25	
CONTRACTOR-INSTALLED CONDUIT - L.F. 60503 - INSTALL CITY-FURNISHED CONCRETE POLE STREET LIGHT UNIT -	2,600.00	\$4.80	\$12,480.00	\$3.50	\$9,100.00	\$5.00	\$13,000.00	\$4.80	\$12,480.00	\$5.25	
EACH 60704 - CONSTRUCT ELECTRICAL	13.00	\$725.00	\$9,425.00	\$780.00	\$10,140.00	\$725.00	\$9,425.00	\$725.00	\$9,425.00	\$425.00	
HANDHOLE TYPE 3 - EACH	13.00	\$350.00	\$4,550.00	\$520.00	\$6,760.00	\$400.00	\$5,200.00	\$350.00	\$4,550.00	\$735.00	
20230 - HEAVY RIPRAP - TON 20233 - HEAVY RIPRAP FILTER FABRIC,	10.00	\$65.00	\$650.00	\$84.00	\$840.00	\$50.00	\$500.00	\$58.43	\$584.30	\$60.00	
TYPE HR - S.Y.	15.00	\$6.00	\$90.00	\$2.30	\$34.50	\$5.00	\$75.00	\$6.00	\$90.00	\$5.00	
20312 - REMOVE STRUCTURE - EACH 50211.0 - SELECT BACKFILL FOR	1.00	\$800.00	\$800.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$1,028.33	\$1,028.33	\$2,150.00	
STORM SEWER - T.F. 50301 - 8 INCH PVC SANITARY SEWER	457.00	\$0.50	\$228.50	\$1.00	\$457.00	\$0.50	\$228.50	\$0.10	\$45.70	\$1.00	
PIPE (STORM) - L.F. 50411 - 12 INCH RCP STORM SEWER	58.00	\$33.00	\$1,914.00	\$45.25	\$2,624.50	\$40.00	\$2,320.00	\$37.03	\$2,147.74	\$48.00	
PIPE - L.F. 50420 - 48 INCH RCP STORM SEWER	164.00	\$34.00	\$5,576.00	\$39.25	\$6,437.00	\$45.00	\$7,380.00	\$36.15	\$5,928.60	\$49.50	
PIPE - L.F. 50431 - 14X23 INCH HERCP STORM	208.00	\$99.00	\$20,592.00	\$100.00	\$20,800.00	\$125.00	\$26,000.00	\$106.49	\$22,149.92	\$163.50	
SEWER PIPE - L.F. 50436 - 38X60 INCH HERCP STORM	39.00	\$58.00	\$2,262.00	\$80.00	\$3,120.00	\$70.00	\$2,730.00	\$57.68	\$2,249.52	\$71.00	
SEWER PIPE - L.F.	152.00	\$131.00	\$19,912.00	\$140.00	\$21,280.00	\$150.00	\$22,800.00	\$133.42	\$20,279.84	\$175.00	
50461 - 12 INCH RCP AE - EACH 50470 - 48 INCH RCP AE - EACH	7.00 1.00	\$590.00 \$1,790.00	\$4,130.00 \$1,790.00	\$1,100.00 \$1,800.00	\$7,700.00 \$1,800.00	\$950.00 \$1,900.00	\$6,650.00 \$1,900.00	\$470.33 \$1,485.02	\$3,292.31 \$1,485.02	\$460.00 \$2,000.00	

			Sand & Gravel nc.	Parisi Construction Co., Inc.		S & L Underground and Trucking Inc.		Capitol Underground, Inc.		Joe D Const	
Item	Quantity	Price	Extension	Price	Extension	Price	Extension	Price	Extension	Price	
50481 - 14X23 INCH HERCP AE - EACH 50610 - 48 INCH RCP AE GATE - EACH	1.00 1.00	\$890.00	\$890.00 \$1,870.00	\$1,200.00 \$900.00	\$1,200.00 \$900.00	\$1,000.00 \$2,200.00	\$1,000.00 \$2,200.00	\$842.63 \$2,210.55	\$842.63 \$2,210.55	\$860.00 \$2,170.00	
50621 - 14X23 INCH HERCP AE GATE -		\$1,870.00	, ,				, ,		. ,	. ,	
EACH	1.00	\$500.00	\$500.00	\$450.00	\$450.00	\$850.00	\$850.00	\$514.31	\$514.31	\$600.00	
50725 - 5X5 STORM SAS - EACH	1.00	\$3,400.00	\$3,400.00	\$4,700.00	\$4,700.00	\$4,000.00	\$4,000.00	\$3,590.11	\$3,590.11	\$2,700.00	
50741 - TYPE H INLET - EACH 90034 - 8'X4' CAST IN PLACE STORM	2.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$1,332.70	\$2,665.40	\$1,400.00	
STRUCTURE - EACH	1.00	\$5,400.00	\$5,400.00	\$7,300.00	\$7,300.00	\$12,000.00	\$12,000.00	\$5,766.14	\$5,766.14	\$9,860.00	
30301.0 - 5 INCH CONCRETE SIDEWALK - JEFFY TRAIL SIDEWALK - S.F.	1,010.00	\$3.25	\$3,282.50	\$4.00	\$4,040.00	\$5.25	\$5,302.50	\$5.25	\$5,302.50	\$7.00	
30302 - 7 INCH CONCRETE SIDEWALK	1,010.00	φ3.23	φ3,202.30	φ4.00	φ4,040.00	φ3.23	φ5,302.50	φυ.2υ	φ5,302.50	\$7.00	
AND DRIVE - JEFFY TRAIL SIDEWALK - S.F.	665.00	\$3.75	\$2,493.75	\$4.60	\$3,059.00	\$5.75	\$3,823.75	\$5.75	\$3,823.75	\$8.50	
10913 - MOBILIZATION FOR WATER MAIN INSTALLATION - LS	1.00	\$1,000.00	\$1,000.00	\$3,900.00	\$3,900.00	\$1,500.00	\$1,500.00	\$7,000.00	\$7,000.00	\$2,000.00	
70002 - FURNISH AND INSTALL 6 INCH											
PIPE AND FITTINGS - L.F. 70003 - FURNISH AND INSTALL 8 INCH	20.00	\$66.00	\$1,320.00	\$60.00	\$1,200.00	\$65.00	\$1,300.00	\$55.59	\$1,111.80	\$80.00	
PIPE AND FITTINGS - L.F.	500.00	\$64.00	\$32,000.00	\$56.00	\$28,000.00	\$60.00	\$30,000.00	\$63.35	\$31,675.00	\$73.00	
70404 - REMOVAL OF EXCESS AMOUNTS OF BOULDERS											
(UNDISTRIBUTED) - C.Y. 70407 - FURNISH AND INSTALL	50.00	\$7.50	\$375.00	\$30.00	\$1,500.00	\$75.00	\$3,750.00	\$18.13	\$906.50	\$50.00	
HYDRANT - EACH 70408 - SELECT FILL - SAND FOR	2.00	\$3,300.00	\$6,600.00	\$3,100.00	\$6,200.00	\$3,500.00	\$7,000.00	\$3,471.55	\$6,943.10	\$3,400.00	
WATER - L.F.	520.00	\$0.10	\$52.00	\$1.00	\$520.00	\$0.50	\$260.00	\$0.10	\$52.00	\$1.00	
70413 - FURNISH AND INSTALL STYROFOAM - L.F.	16.00	\$10.00	\$160.00	\$19.75	\$316.00	\$12.00	\$192.00	\$11.72	\$187.52	\$10.00	
70418 - ADJUST WATER VALVE BOX - EACH	2.00	\$250.00	\$500.00	\$240.00	\$480.00	\$200.00	\$400.00	\$152.50	\$305.00	\$100.00	
70429 - FURNISH AND INSTALL 8 INCH											
VALVE - EACH 10704 - TRAFFIC CONTROL FOR	1.00	\$1,900.00	\$1,900.00	\$2,100.00	\$2,100.00	\$1,750.00	\$1,750.00	\$1,799.51	\$1,799.51	\$1,685.00	
SANITARY SEWER - LS 10721 - TRAFFIC CONTROL SIGN -	1.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$7,475.00	\$7,475.00	\$2,000.00	
PORTABLE CHANGEABLE MESSAGE - LS	20.00	\$100.00	\$2,000.00	\$105.00	\$2,100.00	\$80.00	\$1,600.00	\$100.00	\$2,000.00	\$110.00	

		Speedway Sand & Gravel Parisi Construction Co., Inc. Inc.				Underground and Capitol Underground, rucking Inc. Inc.			Joe D Const	
Item	Quantity	Price	Extension	Price	Extension	Price	Extension	Price	Extension	Price
10914 - MOBILIZATION FOR SANITARY	======	=======				=======		=======	=======	
SEWER - LS 20233 - RIPRAP FILTER FABRIC TYPE	1.00	\$8,000.00	\$8,000.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$69,000.00	\$69,000.00	\$3,000.00
HR (WETLAND CROSSING) - S.Y.	200.00	\$3.00	\$600.00	\$6.30	\$1,260.00	\$5.00	\$1,000.00	\$3.89	\$778.00	\$5.00
20704 - INFILTRATION SEEDING - S.Y.	100.00	\$1.60	\$160.00	\$3.70	\$370.00	\$7.00	\$700.00	\$3.50	\$350.00	\$3.75
40102 - CRUSHED AGGREGATE BASE, GRAD. 2 OR 3 (SAS ACCESS) - TON 40202 - HMA PAVEMENT, TYPE E-1	327.00	\$12.00	\$3,924.00	\$13.00	\$4,251.00	\$14.00	\$4,578.00	\$11.79	\$3,855.33	\$17.50
(RAYMOND OVERLAY) - TON	17.60	\$82.00	\$1,443.20	\$87.00	\$1,531.20	\$82.00	\$1,443.20	\$82.00	\$1,443.20	\$86.00
40211 - TACK COAT - GAL	7.30	\$3.00	\$21.90	\$3.20	\$23.36	\$3.00	\$21.90	\$3.00	\$21.90	\$3.00
40311 - FULL WIDTH GRINDING - S.Y. 50201 - ROCK EXCAVATION	147.00	\$22.00	\$3,234.00	\$24.50	\$3,601.50	\$22.00	\$3,234.00	\$22.00	\$3,234.00	\$25.00
(UNDISTRIBUTED) - C.Y.	25.00	\$1.00	\$25.00	\$60.00	\$1,500.00	\$75.00	\$1,875.00	\$93.75	\$2,343.75	\$125.00
50202 - TYPE II DÉWATERING - LS 50212 - SELECT BACKFILL FOR	1.00	\$500.00	\$500.00	\$250.00	\$250.00	\$250.00	\$250.00	\$100.00	\$100.00	\$1,000.00
SANITARY SEWER - T.F. 50225 - UTILITY TRENCH PATCH TYPE	1,619.00	\$0.10	\$161.90	\$1.00	\$1,619.00	\$0.50	\$809.50	\$0.10	\$161.90	\$1.00
III - T.F. 50301 - 8 INCH PVC SANITARY SEWER	31.00	\$83.40	\$2,585.40	\$80.00	\$2,480.00	\$80.00	\$2,480.00	\$158.03	\$4,898.93	\$140.00
PIPE SDR-26 - L.F. 50353 - SANITARY SEWER LATERAL -	1,467.00	\$54.18	\$79,482.06	\$43.00	\$63,081.00	\$35.00	\$51,345.00	\$41.95	\$61,540.65	\$90.00
L.F. 50390 - SEWER ELECTRONIC MARKERS	152.00	\$36.00	\$5,472.00	\$31.25	\$4,750.00	\$45.00	\$6,840.00	\$33.13	\$5,035.76	\$75.00
- EACH	4.00	\$30.00	\$120.00	\$35.75	\$143.00	\$40.00	\$160.00	\$22.50	\$90.00	\$20.00
50701 - 4' DIAMETER SAS - EACH 50771 - INTERNAL CHIMNEY SEAL -	8.00	\$3,670.00	\$29,360.00	\$3,600.00	\$28,800.00	\$2,900.00	\$23,200.00	\$3,180.07	\$25,440.56	\$2,800.00
EACH 50781 - 8" SANITARY SEWER OUTSIDE	6.00	\$400.00	\$2,400.00	\$350.00	\$2,100.00	\$450.00	\$2,700.00	\$447.19	\$2,683.14	\$500.00
DROP - V.F.	3.31	\$500.00	\$1,655.00	\$360.00	\$1,191.60	\$550.00	\$1,820.50	\$494.02	\$1,635.21	\$450.00
50791 - SANITARY SEWER TAP - EACH 50801 - UTILITY LINE UPENING (ULO) -	1.00	\$1,400.00	\$1,400.00	\$2,100.00	\$2,100.00	\$750.00	\$750.00	\$2,444.89	\$2,444.89	\$950.00
EACH	1.00	\$500.00	\$500.00	\$630.00	\$630.00	\$550.00	\$550.00	\$555.00	\$555.00	\$750.00
90030 - REMOVE SEPTIC SYSTEM - LS 90031 - SALVAGE TOPSOIL - WETLAND -	1.00	\$8,000.00	\$8,000.00	\$3,600.00	\$3,600.00	\$3,500.00	\$3,500.00	\$5,562.50	\$5,562.50	\$11,960.00
S.Y.	333.00	\$2.25	\$749.25	\$1.50	\$499.50	\$5.00	\$1,665.00	\$4.38	\$1,458.54	\$15.00

CONTRACT NO. 6886

9	Speedway Sand & Gravel Parisi Construction Co., S & L Underground and Capitol Underg								
	Inc.		Inc.		Trucking Inc.		Inc.		Const
Quantity	Price	Extension	Price	Extension	Price	Extension	Price	Extension	Price
				*****	#20.00	*******	00.75	04.040.75	040.00
333.00 545.00	\$3.75 \$2.50	\$1,248.75 \$1,362.50	\$1.50 \$1.80	\$499.50 \$981.00	\$20.00 \$20.00	\$6,660.00 \$10,900.00	\$3.75 \$7.73	\$1,248.75 \$4,212.85	\$10.00 \$12.00
		\$783 260 06		=======		:========= :		:======= :	#######################################
	Quantity 333.00	Quantity Price 333.00 \$3.75	Inc.	Inc. Inc.	Inc. Inc. Inc.	Inc. Inc. Trucki Quantity Price Extension Price Ex	Inc. Inc. Inc. Trucking Inc.	Inc. Inc. Trucking Inc. Inc.	Inc. Inc. Trucking Inc. Inc.

aniels ruction

Extension

\$50,800.00 \$30,084.00 \$52,788.00

\$640.00 \$1,906.25 \$24,000.00 \$37,575.00

\$45.00

\$100.00 \$2,129.00 \$1,350.00

\$1,350.00

\$7,260.00

\$8,025.00

\$1,000.00

\$3,500.00

\$900.00

\$325.00

\$8,708.25

\$212.50

\$2,512.75

\$189.00

\$4,500.00

Extension

\$1,120.00

\$23,545.00

\$2,183.00

\$800.00

\$350.00

\$1,768.00

\$480.00

\$42,735.00

\$48,262.50

\$4,650.00

\$108.50

\$993.75

\$15.75

\$26,000.00 \$375.00

\$140.00

\$27,000.00

\$85,000.00

Extension

\$35,000.00

\$1,200.00

\$12,000.00

\$6,004.00

\$13,125.00

\$13,650.00

\$5,525.00

\$9,555.00

\$600.00

\$75.00

\$2,150.00

\$457.00

\$2,784.00

\$8,118.00

\$34,008.00

\$2,769.00

\$26,600.00

\$3,220.00

\$2,000.00

Extension

\$860.00 \$2,170.00

\$600.00

\$2,700.00

\$2,800.00

\$9,860.00

\$7,070.00

\$5,652.50

\$2,000.00

\$1,600.00

\$36,500.00

\$2,500.00

\$6,800.00

\$520.00

\$160.00

\$200.00

\$1,685.00

\$2,000.00

\$2,200.00

Extension

\$3,000.00

\$1,000.00 \$375.00

\$5,722.50

\$1,513.60

\$21.90 \$3,675.00

\$3,125.00

\$1,000.00

\$1,619.00

\$4,340.00

\$132,030.00

\$11,400.00

\$80.00

\$22,400.00

\$3,000.00

\$1,489.50

\$950.00

\$750.00

\$11,960.00

\$4,995.00

Extension

\$3,330.00 \$6,540.00
